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An open letter to Paul Hawkins
Dear Dr Hawkins,

Thank you for the 40 minutes of your time that you spent on the phone with us yesterday.  Forgive us if our work is causing your excellent commercial enterprise momentary inconvenience  but, as you were very frank in explaining to us, your interests are different to ours.  You, as a businessman, have a duty to your shareholders and do not feel that you should spend much time with university researchers unless some commercial or financial advantage accrues to you.  Our belief is that financial advantage could accrue to your firm if independent researchers were shown enough of the detailed workings of the technology to be in a position to endorse your claims and to help you fend off misplaced criticism in the future.  We also believe that a financial advantage would accrue from presenting and using your technology to enhance public understanding of measurement and statistics.  But, of course, these commercial decisions are yours.
In the course of our conversation you asked if we had done a survey of the population to find out if people wanted error statements to be associated with devices such as Hawk-Eye.  No we have not, but we have encountered many people who did not understand that the tennis reconstructions were based on fallible estimates rather than the replays of `what actually happened.’ So, whilst we would not claim to have a representative sample of the whole population, we do know that there are quite a few people whose misunderstandings would be put right by seeing statements of possible error associated with these replays.  In any case, while it is the job of a commercial firm to reflect public demand in its products, it is the job of university academics to help to shape public opinion and enhance public understanding. 
Another aspect of this difference in interest is that you did not feel it necessary to read the paper before criticising it because you, as you said, are only concerned with the impression people get from the press.  Indeed, you have tried to minimise the impact of our work by telling journalists that it is incorrect because we did a calculation based on a normal distribution and making various ad hominem remarks.  As you may know and certainly would know if you read the paper, the normal distribution claim is a red herring because it was only an `as if’ calculation in the absence of the information that we have asked you for.  Nevertheless, we must congratulate you on your tactics – they have scared off at least one journalist to our knowledge. 

Under these circumstances all we can do is reiterate the point made several times already.  If you would be prepared to spend some time explaining the technicalities of the apparatus to us (and you may refer to our publications should you be in doubt about our ability to understand these technicalities), we would be happy to put right any incorrect statements in our paper and submit an updated version.  

If you continue to maintain that your time is too valuable to engage in such discussion, -- a provisional agenda for which can be found in footnote 8 of our paper, - perhaps you, or one of your staff, could compromise by answering the four questions listed below:.
Yours Sincerely

Harry Collins

Distinguished Research Professor

Rob Evans

Reader in Sociology 

In the case of the Federer-Nadal line-call dispute in the final of Wimbledon 2007, Hawk-Eye called the ball IN while the umpire initially called it OUT and Federer insisted that it was OUT.

A) Could Hawk-Eye have been wrong?

B) If Hawk-Eye could have been wrong, and the ball was really OUT (according to the common sense definition rather than the ITF definition of absolute error < 10 mm), do you have the data needed to make a statistical estimate of how likely Hawk-Eye was to have been wrong? 
C) If you do have these data can you say what that data consists of and what the likelihood was?

D) Your website reports that you are ‘unable to prove conclusively that the ball was 1mm IN as shown by Hawk-Eye’. You do, however, say ‘that 1mm IN is a likely’. Can you say how likely is it that this figure is correct?





